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(LL.B-A)

. Which one of the following statements is correct about " Apiary on Wheels™?

(A)  Itis a umque concept designed by Khadi and Village Industries Commission for
easy upkeep and migration of Bee Boxes having live Bee colonies

(B)y  Mobile exhibition of forest products useful for common man's consumption

(C)  Mobile Shop for the free distribution of contraception

(D)  None of the above

. Nikshay Poshan Yojana is related to -
(A}  Mational Nutrition Mission

(B}  National T.B. Control Programme
(C) Mid-Day Meal Scheme

(D)  Seva Bhoj Yojana

. The Good Governance Day is observed on the birth anniversary of -
(A}  Former Prime Minister Atal Bihari Vajpayee

(B) Former Pome Minister Indira Gandhi

(C)  Former Prime Minister Rajiv Gandhi

(D) Former Home Minister Sardar Vallabhbhai Patel

. “Atma Gaon Ki, Suvidha Sheher Ki" theme is related to -
(A)  Shyama Prasad Mukheri Rurban Mission

{(B)  Mational Rural Health Mission

{(C)  Dr. APJAbdul Kalam's PURA

(D) Avushman Bharat Mission

. According 1o World Air Quality Report 2019, compiled by 1Q Airvisual, which of the
following countries is the most polluted country of the world?

(A) India

{B) Mangolia
(C)  Bangladesh
(D)  Pakistan

. “The Perform, Achieve and Trade (PAT) Scheme™ has been designed under -
{A)  Swachh Bharat Mission

(B)  National Smart Grid Mission

(C)}  National Mission for Enhanced Energy Efficiency

(B)  Atal Mission for Rejuvenation and Urban Transformation

. India account for ........... of the total global forest area in 2015 as per the Global Forest
Resources Assessment by Food and Agricultural Organisation.
(A) 5% (B) 4% <)y 3% D)y 2%

. Which of the following states has atiained the status of Achiever (Score 100) in the NITI
Aayog's SDG India Index 2.07

{A) Kemla

(B}  Andhra Pradesh

(C) Himachal Pradesh

(D) None of the State in India
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9. Motera Cricket Stadium in Ahmedabad was in the news in February 2020, because of the
following reason -
{A)  National Kite Flyving Competition was organised in it
(B)  This Stadium has been developed only for day and night matches
(C)  US President Donald Trump addressed the “Namaste Trump' event jointly with
PM Narendra Modi
(D) Itis World's largest stadium

I The dialect from which both Hindi and Urdu do have arisen is
iA)  Kannada
(B}  Ahomiya
(Cy  Khan Boli
(D} Mewati

| 1. The Constitutional provisions of some of the Government of India Acts are as follows:
(1) The Indian Councils Act of 1861 introduced legislative councils
(2} The Government of India Act of 1919 introduced dyarchy in the provinces
{3} Morely-Minto Reforms of 1909 introduced communal electorate
{4) The Government of India Act of 1935 introduced provincial autonomy
Select the code for correct statements!

(A | and 2
{(B) Only2
(C) Jandd

(D L2 3and 4

I2. The boundary between India and Pakistan was demarcated by
(A} Lord Mountbatten
{(B)  Sir Cyril Radeliffe
(C)  Sir Stafford Cripps
(D)  Lawrence

13. Which countries are separated by the Durand Line?
(A) India and Pakistan
(B)  Pakistan and Afghanistan
(C)  India and China
(D) China and Russia

14. Trees shed their leaves in winter season to:
{A)  Conserve heal
(B)  Tuke rest after the summer growth
(C) Conserve Water
(D)  Escape being Eaten by animals

15. Where do Bhagirathi and Alaknanda join to form Ganga?
(A}  Karan Prayag
(B} Dev Prayag
{C) Rudra Pravag
(D) Gangotri

(2)

)‘4 GETMYUNI




16, Mega food parks are concerned with:
(A} Development of food processing industry
(B} Provision of Infrastructure for food processing industry and preservation of food
products
(C)  Establishment of ethnic food markets in the large malls in cities
(D} Both{A)and (B} above

17. What is true about GSAT?
{A)  Itis a series of resources study satellites,
{B)  Itisaseries of weather satellites.
{C) It s aseries of communication satellites.
(D) Itis a series of GPS facilitating satellites.

18. How does the National Rural Livelihood Mission (NELM) identi fy the poor in each
village?
{A)  Using the BPL List
(B}  Accessing the SECC Census
(C)  Participatory process by groups
(D) Certification by village officer

19. Which of the following programmes has been recognised by the Guinness Book of Warld
Records?

(A)  Pradhan Mantri Mudra Yojana

(B)  Aadhar

(C)  Pradhan Mantri Jan Dhan Yojana

(D) Mahatma Gandhi National Rural Employment Guarantee Scheme

20. Which of the following is/are not true of the initiative named “Make in India'?
It seeks to facilitate investment,

It encourages investment in IT industry.

It will enhance skill development.

It will support the protection of intellectual property.

It fosters best in class manufacturing infrastructure,

- o b

select the correct answer from the codes given below:

(A)  4only
(B) 2 only
(C) 3and 5 only
(13 1 only

21. Which Wildlife Conservation Organisation has been focusing on the protection of
Biodiversity hotspots in India?
(A)  Wildlife Conservation Society
(B}  Natural Resources Defense Council
(C)  World Wildlife Fund

(D} Conservation International

(3)
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23,

24,

26.

. Which among the following is not one of the missions announced by the Prime Minister

as part of the action plan for sustainable development?
{A)  Solar Energy

(B)  Climate Change

(C)  Family Planning

(D) Tree Plamation

Which one of the following countries is the first country in the world to propose a carbon
tax for its people to address global warming?

(A)  Australia
(B}  Germany
(C)  Japan

(D} New Zealand

United Nations International Dray for National Disaster Reduction is observed on
(A)  October 24
(B  October 13
(C)  October 23
(D} October 30

. Which organization is popularly called the “World Bank™?

(A)  Intemational Monetary Fund

(B)  International Bank of Reconstruction and Development
() International Development Agency

(D) International Finance Corporation

Where is Secretariat of SARRC located?
(A) Colombo

{B)  Islamabad

(C}  New Delhi

(D Kathmandu

- UIN has

(A)  Six Official Languages
(B)  Five Official Languages
(C)  Ten Official Languages
(D) Eight Official Languages

“World Environment Day™ is observed on
(A} 25" June Every Year

(B) 5™ June Every Year

(C)  24™ October every year

(D) 10™ December EVETY Yeur

. Which among the following countries is not a part of the Commonwealth?

(A)  Myanmar
(B)  Pakistan
(CY SnLanka

(I}  Bangladesh

(4)
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30

31

33.

34

¥,

i,

37.

Whao is the first non-Indian w receive the Bharat Ratna?

Suez Canal connects

(A}  Mediterranean Sea and Red Sea
{B) Mediterrancan Sea and Black Sea
(C)  Baltic Sea and Red Sea

(D}  Baltic Sea and Black Sea

{3)

(A)  Martin Luther King
(B) Mother Teresa
()  Khan Abdul Ghaffar Khan
(D) Zubin Mehta
GST Means:
(A)  Goods and Services Tax
{B) Good and Simple Tax
(C) Goods and Simple Tax
(D} None of the Above
. “Higher than Hopes™ is a biography of
iA)  Dhirubhai Ambani
(B)  Steve lobs
{(C)  Nelson Mandela
(D} Dr. APJ Abdul Kalam
Expand CTBT
(A) Comprehensive NMuclear Test Ban Tresty
(B)  Costly Nuclear Test Ban Treaty
(C) Control Bank Transaction Tax
{D)  Consolidate Nuclear Test Ban Treaty
Which country is known as the “Land of Thousand Lakes™?
(A} Ireland
{BY  Finland
(C)  Greenland
(M leeland
Rangaswamy Cup is associated with
(A} Cricket
(BY Hockey
{C)  Football
() Archery
Mars 15 also known as the:
{A)  Blue Planet
(B)  Red Planet
{C)  Brown Planet
(D) Green Planet
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38. National Highway No. | links Delhi and

(A} Amritsar
(B) Allahabad
(C) Kolkatta
(Y Chennat

3%, Which Country has become the first country in the world to make broadband internet
access a legal right of all citizens?

Ay UK
{B) MNew Zealand
(C) Finland

(D Switzerland

40. Which among the following can impose reasonable restriction on the freedoms contained
in Anticle 19 of the Constitution?

{A)  Only Parliament

(B)  Only Supreme Court

(T Only Government of India

(D) Only High Court

41, Supreme Count of India’s judgement on Re-Grassing 15 related to -
{A)  Development of Charagah (Grazing Grounds) in each gram Panchayai
(B)  Re-grassing of minded areas
(C)  Shifting farming
(12 Re-development of dried beds of hydro-projects

42. Rule of law in British India meant
{A)  That evervbody was equal in the eyes of law
(B}  That the British and minion subjects went to the same courts
(€} That Law’'s were framed and courts setl up
(D) The guarantee of personal Liberty

43. Who was the first Leader of Opposition in Lok Sabha?
(A)  Jagjivan Ram
(B)  Ram Suhag Singh
{€)  Y.B.Chavan
(D) Sharad Pawar

44, The *Collegium System™is5 ..........,

(A} A process to appoint judges in the High Courts and the Supreme Court of India
(B} A process to elect the Speaker of the Lok Sabha

(C) A process to elect President and Vice-Presidemt of India

(L} A Process to elect Leader of the Opposition Party in the Lok Sabha

45. Justice social, economic and political is . .
(A) A Directive Principle of State Pu[m}' taken i mtcl account while making law
(B}  An ideal enshrined in the Preamble to the constitution of India
(€} Guaranteed by fundamental rights in the Constitution of India
(D} Guaranteed by Supreme Court through its writ jurisdiction

(6)
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46.

47.

48.

49,

0.

51

22

a3

Which among the following parts of constitution of India, includes the concept of welfare
states?

{A)  Prcamble

(B}  Fundamental rights
(C)  Directive principles
(D}  Fourth Schedule

Who is sovereign in India?
{A)  Prime Minister of India
(B)  President of India

(C}  Council of Ministers
(D)  We, the people of India

Who is called the first law officer of the country?
{A)  Chief Justice of India

(B)  Solicitor General of India

(C)  Attomey General of India

(D) Advocate General of India

The National Anthem was adopted by Constituent Assembly on
(A) 27 December 1911

(B) 27 December 1949

(C) 24 January 1950

(D) 26 January 1950

Who among the following can attend the meetings of both Houses of Parliament while
being not a member of either House?

(A)  Solicitor General of India

(B)  Vice President of India

(Cy  Comptroller and Auditor General of India
(D) Attornev General of India

. Who is legally competent to declare war?

() President of India

(B}  Prime Minister of India
() Chief Justice of India
(D)  Law Minister of India

Lok Sabha passes Vote-on-Account to

{A)  To meet expenditure on secret services

(B)  To enable the Government to spend on unexpected demands

(C)  To meet the expenditure during the period between the introduction of Budget and
its passage

(D) To assert its supremacy over finances

Fundamental Duties were added to the Constitution on the recommendations of:
{A)  Swaran Singh Committee
(B) B.M. Rau Commitlee

(C)  AB. Mathur Committee
(D)  Singhvi Committee

&

(7
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54. The minimum age w0 vole was decreased from 21 10 18 by:
{A) 7" Constitutional Amendment Act of 1956
(B) 42" Constitutional Amendment Act of 1976
(C) 617 Constitutional Amendment Act of 1988
(L) 74™ Constitutional Amendment Act of 1992

55. Who appoints the judges of the subordinate courts?
(A)  Chief Justice of High Court
(B} Governor
(C)}  President
(D) Collegium

56. Who has the authority to determine the jurisdiction of a court?
{A)  President
(B} Supreme Court
(C)  Parliament
(D} Mone

57. Consider the following statements regarding Law Commission;
|, Law Commission is a statutory body created by an act of Parliament.

2. The tenure of Law Commission is three years.

3. Government of India has constituted the 21% Law Commission with Balbir Singh
Chauhan as its Chairman.

Which of the statements given above isare correct?
(A) 1 only

(BY 1 and3 only

(C)  2Zand3 only

() 1.2and3
58. How many States have legislative Councils in India?
(A) 4
(B) 6
€y 3
D) %

59, Who is not a citizen by domicile?
(A)  Those who are born in the territory of India
(H)  Those whose either mother or father was bom in the territory of India
{C)  Who has been ordinarily resident in the territory of India for not less than five
years immediately preceding commencement of Constitution of Indja?
(I}  Who has been ordinarily resident in the territory of India for not less than four
years immediately preceding commencement of Constitution of India?

60. The first woman Governor in India was
(A) Padmaja Naidu
(B)  Sarojini Naidu
{C)  Vijayalakshmi Pandit
(D)  Sharada Mukherjee

(8}
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6l.

6.

63.

b6,

&7.

0H.

The Case of “Hung Parliament™ oceour when?

(A) A Parliament after a general election in which two major Political Parties get
equal number of seats,

{B) A Parliament after a general election in which no party gets an absolute majority.

(C) A Parliament after a peneral election in which every parly claim to form a
EOVErnment.

{0}  NWone of the above

The Comptroller and Auditor-General 1s appoimnted

(A) By the President by a warrant under his hand and seal
(B} By the Parliament by a legislation

{C) By the Finance Minister on behalf of the President
{3y By the Prime Minister

The first hour of every sitting of the Parliament is known as
(A}  Zero Hour

(B)  Question Hour

(C)  Debate Hour

(D) Dhiseussion Hour

. Right 10 Education Act, 2009, provides for free and compulsory education to

(A)Y  All Hiterate Children

(B)  All Nliterate Children as well as adults
(C)}  All Children up to the age of 10

(D) Children aged between 6 and 14

. How many regional languages are listed under the VIl Schedule of the Constitution of

India?

(A) 24 (B) 22 wy 18 (D) 15

The 74" Constitutional Amendment envisages a .............. tier Nagar Palika system.
(A} Two

(B}  Three

(C) Four

(D)  None of the above

Who become the first Indian woman to be appointed as judge of International Sea Law
Tnbunal recently?

(A) Anna Chandy

{(B) Neeru Chadha

() Sujatha Manohar
(¥} MNone of the above

Which country has become the first Asian country to recognise same sex marriage?
(A)  Tmwan

(B) Lebanon
(C) Timor-Leste
(I3  Jordan

(%)
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69. Which State in India enacted the Lokpal Act for first time in history

0.

71,

13,

74.

5.

76,

(A)  Bihar
By  Gujara
() Didisha

(I}  West Bengmal

Who developed the doctrine of “Rule of Law™?
(A) Lord Blackstone

{B) Lord Denning

(Cy AC Dicey

(D) Maine

Offence of breaking a divine idol is
(A} Crime

(B) Sacnlege

(C)  Salus populi

(13)  Blasphemy

. PIL means

(A} Private Interest litigation
(B} Public Interest Litigation
(C)  Publicity Interest Litigation
(D) Proactive interest litigation

“The Hindu View of Life™ is written by
{AY Dr.S. Radhakrishnan

(B)  Jawahar Lal Nehru

(C)y LK. Advam

(D) Indira Gandhi

India’s Population growth was rapid because -
[A) Dweath rate is more than birth rate

(B)  Birth rate is more than death rate

(C) Birth rate 15 same as death rate

() None of the above

MNational income can be increased by —
{A) Increase in population

(B}  Increase in the rate of investment
(C)  Increase in unemployment

(D)  Decrease in price level

Tadoba Andhari Tiger Reserve is located at which of the following states?

(A) Maharastra

iB)  Madhva Pradesh
(C)  Uttar Pradesh
(D} Chhattisgarh

(10)
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77. Exercise Shakti 1s organised between which of the following countries?
iA)  India and Oman
(BY  India and France
(C)y  India and Maldives
(D)  India and Sn Lanka

78. The name given to all the hills of north east India beyond Brahmaputra gorge is -
(A)  Siwahk

(B Purvanchal
() Himachal
(D) Himadri

79, Which is not among the three themes of budget 2020-217
{A)  Aspirational India
(B) Economic Development
(CYy  Growing India
(D} Canng Sociely

80. Which country has launched an Artificial Imelligence (AT) cop Ella to the force?
(A) New Zealand

(B}  China
{Cy USA
(D)  Japan

81. Choose the correct spellings in options given below:
{A)  Hypothecation
{(B)  Hyphothecation
(C)  Hypthacuation
(I3}  Hypathecation

82, Which of the following spellings 15 correct?
(A) Concensus
(B) Consencus
(("y  Consenssus
(D7 Consensus

83, Lex locr means
(A} lalian Laws
(B) Domestic laws
(C)  Latin Regulations
() Law of a place

84, Amicus Curiae means
{A)  Anold man
{(B)  Name given to the Poorman

(C)  Friend of count or lawyer appointed by a court
(1) A litigant before the coun

(11}
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85, Cuid pro quo means
(A)  Evidence
(B)  Favourable opinion
(C) Revenge
(D} Something in return

Choose appropriate word or words

g6, Anjana is hardly the young lady todo ......... to her husbhand.
(A)  Credit
(B}  Harm
{(C)  Damage

(I} Reputation

B7. Nita was expecting a call from her mother which would inform her whether she

...... OF
not.
{A) Hadto go
{B) Had gone
(C)  Wasexpected
(I Should inform
88. “All nght ........" said the police officer, “we shall get the culpnt in a day’s time™,
(A)  Chief
(B) Sir
(C) Boss
(DY  Captain
89. The dispute between India and Pakistan is of a more serious nature than ... between

India and its other neighbours,
(A}  That exist

(B)  That existing

(C)  Those that exist

(I3)  Tha which exist

90, When he ...... his hair cut he took a bath.

{A) Have had
(B)  Had
(C)  Will have
(D) Had had
Find out correct preposition,
91. Ram has been missing ........c..... 24 hours.
{A) For
(B) Since
() By
(D} Till
92. We must try to get home............... time for dinner.
(A) At
(B) By
(Cy  Since
() In
(12)
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93. Fill in the missing number 1, 1,2, 3, 5,8, ..o.ioeiinn, 21
(A) 21 (B) & < 1 (o} 13

94, I in a certain code, the word MILITARY is written as 12324567, then in the same code,
the word TAIL will be writien as:

(A) 5432
(By 2345
(€} 4523
(D} 3254

95. Mare 15 to Horse as —
(A}  Sowisto Boar
(B}  Pony is to Donkey
(C)  Geeseisto Duck
(I Deeris o Buck

00 ok EREEOn 15 s e R e R s
iA)  Crime : Punishmen
{(B)  Disease : Immunity
(C)  Trial : Forfeit
{D)  Fine : Money

97, A man walks 1 km towards East and then he wens 1o South and walks 5 kms. Again he

turns o East and walks 2 kms. After this he turns to North and walks 9 kms. Now, how
far is he from his starting point?

(A)  5kms
(B) 4 kms
(C)  9kms
(D)) [0 kms

98. The difference between time taken by Boat-A to cover 80 km upstream and that taken to

cover 80 km downstream is 1 hour. If the respective ratio between its upstream and
downstream speeds is 4 : 5, what distance will Boat - A cover downstream in 2 hours?
{in km)

{A) 48 (B) 32 () 40 Dy 44

99, John 15 3 years younger than Kiara, At the time when both of them married. the sum of
ages of both Kiara and John was 45 years, What was the age of John's younger brother
Sam at the time of John's marriage, If Sam was 5 vears Younger than John? (in years)

(A) 17 {(By 15 Cy 16 (D) 18
100. K is L.'s wife's husband’s brother. M is the sister of K. N is the sister of L. How is K
related to M?
{A)  Sisterin Law (B)  Brother (Cy  Daughter (DY Wife
B T
(13)
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(B) | 22 (B) | 22
©) e (C) | 1
I (D) | 1=
66) |od FENE W R wh TR niew | 66) | T4 ARumw Am R e L Uit s wrfeer
T F U w1 W #) wEEr & amue S
(A) |7 IE
(B) | #m (B) | =&
(© | = (C) | = |
(D) | = # @ % @ (D) | Budam a2 =5 !
67) |F= B R gEEIEe @ o fegme w AW % W A | 67) | hrad Aes adm apttaas @ AW o feged O TE
g #13 wrelt weet g i ol ot £2 e Fat v & ge
(A) [ = (A) |
(B) | #= =7 (B) | AgEw
(C) | g e (C) | e it
(D) | =50% & & =8 78 (D) | e e aa & et
68) | TEOTTER famw W1 werm 24 aren wEel UOE 9V | 68) | o ow mii e & Hee oF o UGTs Sid 26
W A o A = famor &7
(A) | TR (A) | TEw=
(B) | =¥ (B) | 8w
(C) | er—=m (C) | trha-8ws
(D) | =& (D) | 7wm
69) |wm % f&m v 3 ofeew ® MR W WU | 69) | 999 = AW oW & fiEon R uloE T daUs tEe
s wETny
(A) | Fren (A) | Tr=
(B) | (B) | T7== |
(C) | =feam (C) | &= |
(D) | e (D) | dehdars
70) | WEE W RS o o R e ey T0) | = = b © (A © oA EEs S
(A) | 7 ==en (A) | o st=mtn
(B) | = 3Fm (B) | m=e i
{C) | w=t st (C) | ové it
(D) | = D) | »
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1) | e o A A s E: 71) | gov e & I e 3
(A) [ Fwm (A} | e
(B) | srfiern (B) | vz
(C) | #ou iy (C) | wom
(D) | e (D) | 3=
72) | = mf W aef # 72) | ot = e A
(A) | Pl m g (A) [ ot il & e
(B) | it mien (B) | Fehls e
(C) | s for sepasar (C) | etz er
B (D) | s 23 wlew
73) | = g = oiw wvew R wo femn T 87 13) | = g feg e ot o & fishor e 37
(A) | & T T (A) | 7. A T
(B) | 7w == T (B) | meoe s oy
(C) | =& i (C) | s d =l
(D) | e it (D) | o= ar
T4) | WA w wwwn g A9 0 8§ s 74) | 799 @ et = e et v e g -
(A) |73 = == = @ sifins 8 (A) | A= e mm me wE e
(B) | ™= = g w @ o (B) | 7ot i wa e =
(C) | T g = % e # (C) | P Ea i Es @ A d B
(D) | 37w # & Wi A0 (D) | e el ad &
75) | meE wm  gie W W AL L 75) | amed e § g 7 oAEe 3
(A) | =rte o gz (A) | wrerst e
(B) | PR fi = A o= (B) | mderfm T
(C) | et o qfE (C) | merdt M
(D) | 7a == F == (D) | S imaa =i
76) | T s mmem e Greeten A 4 5w 0w A | 76) e _—— el L
ferr &7
(A) | weTs (A) | raraees
(B) | 7= ¥¥ (B) | #aem
(C) | 7 w=n 4 (C) | e=agEn
(D) | = (D) | &
77) | s i Ferem B @ few ow @ A s | 77) | O 4 R R @ 2 R wiieim Fes S WEEa A
Eﬁ:ﬂmtj Ty
(A) | e sl s ] (A [ 7ea w3 fre
(B) | @ it ww | (B) | a3 5m
(C) | wrm s A (C) | = v el
(D) | v it s (D) | 7799 v Tt
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78) | omer S @ wt ww o Aww WA i W e | 78) | SovedEs wet 3 uw as ua sree vt et
LS LS & e faer o ) —
(A) [ Frfen i (A) | fefea
(B) | ot . (B) | ye=rem —
(C) | femmerss (C) | Enres
(D) | Tt (D) | fereedt
79) | ¥ jovc—30 T A9 AWE § # FF & 9 87 79) | = 202021 @ Bhn it 1 feaer fel 7
{(A) | semTE T (A) | ol e
(B) | =it Feera (B) | wrate= e
{C) | =g WA (C) | wusr ==
(D) | == T (D) | 7w A
g0) | o B 3 wiffelmee ool ) w0 U R | §0) | R 2R & wadiere B3EA Bl ufte 8 § 398
¥ § wi= fem 2 Ll Wy @ A
(A) | = (A) | P R
(B) | ¥ (B) | &=
(C) | T {C) e
(D) | = (D) | s
81) | Choose the correct spellings in oplions | 81) | Choose the correct spellings in options given
given below: below:
(A) | Hypothecation {A) | Hypothecation
(B} | Hyphothecation (B) | Hyphothecation
(C) | Hypthacation {C) | Hypthacation
() | Hypathecation (D) | Hypathecation
82) | Which of the following spellings is | 82) | Which of the following spellings is correct?
correct?
(A) | Concensus {A) | Concensus
(B) | Consencus (B) | Consencus
(C) | Consenssus (C) | Consenssus
(D) | Consensus (D) | Consensus
(83) | P w o oA 83) | demastTHEEe 3
(A) | st wr (A) | eradads
(B) | ¥ W (B) | wigsgs
(C) | 7= frmm (C) | rfted fseny
(D) | 7% s = F (D) | A = ays
84) | Amicus Curiae 57 =7 2. B4) | Amicus Curiae = == d:
(A) | T T3 et (A) | B dw el
(B) | T =t famn e am (B) | v & iz fomr w7t
(C) | aremm % firy m avemn 2R (o i (C) | were= = itz # v @ foges wim
(D) | #=rew F 7w U At (D) | ez @ mane i et
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85) Quid pro quo ¥ a1 #, 85) | Cuid pro quo = WEEE
(A) | mwT (A) | 7=
(B) | *A% ™ (B) | s 72
(C) | == (C) | ===
(D) | == & == (D) | ==t e gw

~ Choose appropriate word or words Choose appropriate word or words

86) Anjana 15 hardly the young lady to do | 86) | Anjana is hardly the young lady to do
cesseenss to her husband. <1 reeaneo 10 her husband.
(A) | Credit (A) | Credit
(B) | Harm (B) | Harm
(C) | Damage (C) | Damage
(D) | Reputation (D)) | Reputation

87) | Nita was expecting a call from her mother | 87) | Nita was expecting a call from her mother

| which would inform her whether she ...... which would inform her whether she ... or

OF not. nol.
{A) | Had to go (A) | Had 1o go
(B) | Had gone (B) | Had gone
(C) | Was expected (C) | Was expected

1 (D) | Should inform : (D) | Should inform

88) | “All right ......." said the police officer, | 88) | “Allright........" said the police officer, “we
“we shall get the culprit in a day’s time™. shall get the culprit in a day’s time™.
{A) | Chief (A) | Chief
(B) | Sir (B) | Sir
(C) | Boss (C) | Boss
(D) | Captain (D) | Captain

89) | The dispute between India and Pakistan is | 89) | The dispute between India and Pakistan 1s of
of a more serious nature than ...... between 4 more serious nature than ...... between
India and its other neighbours. India and its other neighbours. =
(A) | That exist {A) | That exist
(B) | That existing (B) | That existing
(C) | Those that exist (C) | Those that exist
(D} | That which exist (D) | That which exist

M) When he ...... his hair cut he took a bath. 90) | When he ...... his hair cut he took a bath.
(A) | Have had (A) | Have had
(B) | Had (B) | Had
(C) | Will have {C) | Will have
(D) | Had had (D) | Had had

Find out correct preposition. Find oul correct preposition.

91) | Ram has been missing ............. 24 hours. | 91) | Ram has been missing ............. 24 hours.
{A) | For (A} | For
(B) | Since (B) | Since
(C) | By (C) | By
(D) | Till {D) | Till
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92) | We must try to get home............... time 92) | We must try o get home............... time
for dinner, for dinner,
(A} | Al (A) | A1 ]
(B) | By (B) | By
(C) | Since (C) | Since
(D) | In (D} | In
93) |EWESMW—1,% 3% WL, o, 30 93) |muzdwss®- 11,2358 . ... 71
(A) [ 21 ((A) ]2
(B) | & ] (B) | &
(C) | 1 () | 1
(D) |13 (D) |13
94) | W= ww BfEm ®E A muTARY e 31| 04) | A R o a0 B, MILITARY Hac 12324567 fefow S
13Ee F ¥ H fear = b, W o Sm # A, 3t §F 37 S, TAIL e for I3F fvfe A,
TAIL Y& s 35 wEm e =
(A) | 5452 (A) | 5432
(B) | 2345 (B) | 2345
[C}I 4523 f‘:] 4523
[]}} 3254 {D} | 254
95) | Mare is to Horse as - 95) | Mare is to Horse as -
(A} | Sow is 1o Boar {A) | Sow is to Boar
(B) | Pony is to Donkey (B) | Pony is to Donkey
(C) | Geese is to Duck (C) | Geese is 10 Duck
(D} | Deer is to Buck (D) | Deer is to Buck
96) | Tax:Exemption: .......:......... |96 | Tax : Exemption :: ........... R
(A) | Crime : Punishment (A} [ Crime : Punishment
(B) | Disease ; Immunity (B) | Disease ; Immunity
(C) | Trial : Forfeit (C) | Trial : Forfeil
(D) | Fine : Money _EI':TI] Fine : Money .
97) | smht 0 w1 oam ¢ Bl amm ool B owm | 97) | et uem o 1 lebiles 3o O oS oo G0 2 os
= wh it gz # o o fedt e dom P o vEw & w5 faibies gow 4 wew fow §o e i
F o gEw & sl 3 el e b o o yEe & o 2 fiivites gou & B T wve Qo s @
:;Tﬁm ﬁmﬁmér . §) e, ye & i o e o= 2, g2, Be vt g R S
Hat ga v
(A) |« Fdt {A) | 6 faldzg
(B) | x fredt (B) | 4 falitea
(C) | 4 et (C) | o Fetste
(D) | to P = (D) | 1o fkem o
98) | TR0 I W F A co [ 01 g0 A9 W A | O8) | a2 98 60 (BT © Gued B S wae aEed a0

s o F aqEE co i S o0 w oW & fom
™ FEY F A W AW g 6 f) 3R e 8 s
R agvEw w1 W & dtg T oagmE ok # F
TH-T UM F AIES ¢ W F feedt gh oww s
it )

fatniied & oo § awa g9 o o a = wiEa
e 3, 7 ferd i W w@enaty mitaw @ freae
Hing wEuE 4 6 3 7 e @ gt M e 3
FigEaEy 2 dlfew B (falvtea e
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(A) | 48 (A) | 48
(B) | 32 | (B) | 32
(C) |40 =i (C) | 40
(D) | 44 , (D) | 44
09) | S, AW A 3 W w2 ¥ G aw o A W | 99) | s fore w8 0 W 8 3. R AR 2w & e A
# 3o ww e s ST S W Iw oW A owy &% fawrar v Hos 9 Gz 45 e o dos 2 fewg 2l
mm:mﬂmﬂmaﬁ%ﬁqﬁﬁﬁ Erei G SR A swE TdswE
o war off, a0 dm W H o owe e m? () RS —
(A) 17 (A)[17
(B) |15 (B) | 15
(C) | 16 (C) | 16
(D) | 18 (D) | 18
100) |k Lo o s A wg & w, K A TN, | 1) | K LEER2ctessd measedin LaiEd
L¥ e fi kW owmnm @ wefm B K fad & e mederee
(A) [ = (A) [ #=a
(B) | (B) | =
(C) | #A (Cy | &
l (D) | 70 J (D) | v=at
N
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